ADVANCED ENGG. MATHS 3ed sem(IT)
TUTORIAL SHEET-II
UNIT-11 (PROBABILITY DISTRIBUTION)

NOTE:- Attempt all questions.

Q.(1)
Q.(9)

Q.(3)

Q.(4)

Q.(5)

Q.(6)

Q.(7

Q.(8)
Q.(9)

Q.10

Find mean, variance and standard deviation of Binomial Distribution.
In a certain factory turning out razor blades there is a small chance of 0.002 for any blade to be

Defective .the blades are supplied in a packet of 10. Using Poisson distribution, find the
Number of packets containing no defective, one defective, and two defective blades respectively
in a consignment of 10,000 packets.
The distribution of weekly wages for 500 workers in a factory is approximately normal with
The mean and standard deviation of Rs.75 and Rs.15 respectively .find the number of workers
Who receive weekly wages (i) more than Rs.90 (ii) less than Rs.46. (given p(0<z< 1) =0.3413
,P(0<z<2) =0.4772)
Fit a Binomial distribution to the following data :-
X 0 1 2 3 4 5
f 2 14 20 34 22 8

Find the Karl Pearson coefficient of correlation from the following data.
X 25 27 30 35 33 28 36
y 19 22 27 28 30 23 28

The ranks of 10 students in two subjects mathematics and physics are given below:

Ranks in 5 12 |9 |8 (1 |10 |3 |4 |6 |7
mathematics x

Ranks in 10 (5 |1 |3 |8 |6 217 |9 |4
physics y

Calculate Spearman’s Rank Correlation coefficient

Calculate the coefficient of correlation and obtain the line of regression for the following data.

X 112|3 |4 |5 |6 |7 |8 |9
y 9 (810|112 |11|13 |14 |16 |15

Define Exponential distribution? Find the mean and variance of the distribution.
Fit the data in second degree curve (parabola) by method of least square.

X 0 1 2 3 4

y 1 1.8 1.3 2.5 6.3

2
Prove that the angle between two regression lines is 8 = tan-1{(1=r_)_ocxox _} where r is the
T ox’+0y?
Correlation coefficient.
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